60 Gallon Tow Behind Sprayer

PIN Prefixes: Model Number Description PIN Prefix

LP53766 60 Gallon Tow Behind Sprayer

Revised: 1/22/15



# Description Part # Qty
1 60 Gallon Tank ST43648 1
2 Channel 60 Tow ST43608 2
3 Crossmember 60 Tow ST43825 1
4 Crossmember 60 Tow ST43609 1
5 Wheel-Tire 15" ST43471 2
6 Axle Shaft g1" x 40" ST43613 1
7 Pump HP, 4.0gpm 12VDC ST43791 1
8 1/2 NPT, Tee ST43424 1
9 Directional Valve ST43430 1
10 1/2"Barb x 1/2"NPT F, Fitting ST43587 2
11 Relief Valve ST43591 1
12 Gauge ST43593 1
13 Elbow 1/2"Barb x 1/2NPT ST43803 1
14 3/8"Barb x 1/2"NPT M Fitting ST43425 1
15 Hose, Black Rubber 1/2", Per Foot ST43418 1
16 1/2 Barb x 1/2 NPT M. ST43423 1
17 Sump Strainer 1/2" ST43422 1
18 Nipple 1/2NPT x 1/2NPT ST43802 1
19 Hose Hanger ST62006 1
20 Plastic Wing Nut ST43498 1
21 3/8 Straight Barb Fitting ST43499 1
22 Tank Clamp ST43827 4
23 Hitch Clevis ST43826 1
24 Hitch Clevis ST43233 1
25 Boom Support 60 Tow LH ST43851 1
26 Boom Support 60 Tow RH ST43850 1
27 5/16" x 1-3/4" Square U-Bolt ST43315 2
28 5/16 Flange Nut ST65008 32
29 5/16 x 3/4 Carriage Bolt ST65006 6
30 U-Bolt ST43330 2
31 5/16 x 3/4 Flange Bolt ST65007 12
32 5/16 x 1 Flange Bolt ST65014 6
33 3/8 x 3 Carriage Bolt ST65092 4
34 3/8 Nylock / Stover Nut ST65089 4
35 Hose Holder 1/2" ST43663 1
36 #10-24 x 1" Truss Head ST65001 4
37 1/4" Bent Pin ST62008 1
38 1/4" Flange Nut ST65073 2
39 HP Handgun ST43435 1
40 Axle Locking Collar 1" ST43473 6
41 3/8 Flat Washer ST65003 4
42 Drain Cap w/ Seal ST43516 1
- Wire Harness, Switch ST43472 1
- Wire Harness, Battery ST43483 1




